USE THIS SCREW
TO ATTACH GROUND WIRE

1422279 1 |MANUAL, OWNER (NOT SHOWN)
20 |1812260 1 |TIE PLASTIC WIRE 11" (NOT SHOWN)
19 1412032 1 |LABEL SERIAL NO 32 SERIES
18 1414400 1 |LABEL KWIKEE LOGO SILVER
17 11209730 2 |WASHER 5/16 SPLIT LOCK
16 (1915260 2 |NON-SKID TREAD 6X21 BLK REFLECTV
15 (1814100 2 |CLIP WIRE
14 (1213500 1 |PINCOTTER 5/64 X 1
13 1213200 1 |CLEVIS PIN, 1/4" DIA. x 1 3/4" LENGTH
12 1602000 4 |BUMPER BLACK RUBBER STOP
11 3410000 1 |LIGHT UNDER STEP W/TERM
10 (1201000 6 |SCREW #8 X 3/8" HWH SELF TAP
9 (1800709 1 [CONTROL STEP W/OVERRIDE PKD PRCH LT
8 [1205900 2 |NUT 5/16-18 HEX
7 11203430 2 |BOLT 5/16"-18 X 1 HH GR5
6 |[1102200 2 |CAM STOP HEX HEAD SOCKET
5 (1209420 4 |WASHER 1/4 SPLIT LOCK
4 (1205600 4 [NUT 1/4-20 HEX
3 [1203030 4 |BOLT 1/4-20 X 3/4 CARRIAGE
2 (1101422 1 |GEARBOX 5:1 W/MOTOR & LINK ASSY "A"
1 3202082 1 |FRAME ASSY PAINTED 32, REINF
ITEM|PART NUMBER |QTY DESCRIPTION
DESCRIPTION REV|] DATE |BY| EcCO# POWER GEAR
u:t‘.l 33;55 32 DBL ELEC W/9510 0E | 09-15-09| BK| 09-0296-3 Po Wer Gear J‘}’(’Z‘;AE’?
9 CONTAINED HEREIN IS THE SOLE PROPERTY OF MISHAWAKA, IN_USA KWIKEE
s[5 | PRoEeToN Mol O] REVISION [ TOLERANCES | PrRoPRIETARY INFORMATION WHICH 18— PART NUMBER REV.
S A X1 ot aLL | CONFIDENTIAL. ANY USE OR REPRODUCTION | DRAWN: B. KROBOT
B @ EI o <> CRITICAL s 03 EAK AL | OF THIS DRAWING WITHOUT AUTHORIZATION DATE: 7/8/2008 903209000 OE
o 9 X iots  cooss | FROM ACTUANT OR ITS SUBSIDIARY MAY
a Yl | roraino oF © usen|| aNeLEie  osios0 | WARRANT LEGAL ACTION AGAINST THE UseR.  [EsR: [SCALE: 15 | UNITS: INCHES [mm][SHEET 1 OF 2




24.000 25.500

22.000
[558.80] [609.60] [647.70]
750 —f O =
¥ g'ggé N @.406 , TYP
[57.15] [10.31]
e————8.750 ————m |e—1.000
: [25.40]
- 11226 ——— =
[285.15] [112.38]
12.199
13.988 [309.86]
[355.29]
7.775
e 8.763 [197.48]

[222.58]

31.387

[797.24]

=

O

4.023
[102.20]

17.841
[453.17]
ft—————— 11.380 —— = la— 2.438
[289.05] [61.92]
I+ % P
8.302
— [210.86]

1

[ T

- ALL DIMENSIONS ON THIS SHEET ARE FOR REFERENCE

=

SC

3 Power Gear “::"
903209000 |OE

| UNITS: INCHES [mm] |SHEET 2 OF 2




